
6065
Audi; Skoda; Seat; VW
•  A3 2012-> 
•  A3 Limousine 2014-> 
•  A3 Sportback 2012-> 
•  A3 Cabrio 2014-> 
•  A3 Cabrio S-line 2014-> 
•  Octavia 2013-> 
•  Octavia Combi 2013-> 
•  Octavia RS 2013-> 
•  Octavia RS Combi 2013-> 
•  Leon 2013-> 
•  Leon SC 2013-> 
•  Leon FR 2013-> 

Towbar

•  Leon SC FR 2013-> 
•  Leon SC FR Edition 2013-> 
•  Leon ST 2013-> 
•  Leon ST FR 2013-> 
•  Golf 2012-> 
•  Golf GTI 2013-> 
•  Golf Sportsvan 2014->

This Fitting Instruction is 
dated 19-012024. 
Always scan for the latest and 
most complete fitting instructions.



© 606570/19-01-2024/2

 
* Inbouwen in een high-voltage elektrische auto 

of in een hybride auto mag uitsluitend door 
gekwalificeerd personeel geschieden. 

* De voorgeschreven kwalificaties variëren naar-
gelang het gebied. 

* Neem de plaatselijk geldende wetgeving en de 
wettelijk voorgeschreven richtlijnen met 
betrekking tot service aan elektrische voertui-
gen in acht. 

* Het niet in acht nemen van deze instructie kan 
tot ernstig letsel en dood leiden. 

 

 
* Fitting in a HV electric car or hybrid vehic-le 

must only be done by qualified personnel. 
* The required qualifications may vary depen-

ding on the region. 
* Please observe the local legislation and legal 

directives relating to service to electric vehicles. 

* Disregarding these instructions may lead to 
serious injuries or death. 

 
 

* Der Einbau in ein HV Elektrofahrzeug/ Hybrid 

darf nur von qualifiziertem Personal durch-

geführt werden. 

* Die erforderlichen Qualifi kationen variieren ja 

nach Region. 

* Beachten Sie die örtlichen Gesetze und gesetz-

lichen Richt linien bezüglich Elektrofahrzeug-

Service. 

* Das Missachten dieser Anweisung kann zu sch-

weren Verletzungen oder zum Tod führen. 

 

 
* Le montage dans un véhicule électrique haute 

tension (HV) ou un véhicule hybride ne peut 
être fait que par du personnel qualifié. 

* Les qualifications requises sont varient selon la 
région. 

* Respectez les loies locales et les directives 
légales pour le service aux véhicules électri-
ques. 

* Le non-respect de ces instructions peut provo-
quer des blessures graves ou entraîner la mort. 

 
 

* Monteringen i ett HS-elfordon eller ett hybrid-
fordon få endast genomföras av kvalificerad 
personal. 

* Vilken kvalifikation som krävs kan variera från 
region till region. 

* Beakta alla lagar och bestämmelser som gäller 
i respektive land samt alla lagliga direktiv som 
gäller för servicearbeten på elfordon. 

* Om detta inte beaktas fi nns risk för mycket 
allvarlig kroppsskada eller livsfara. 

 

 
* Indbygningen i et HV elektrisk køretøj eller 

hybridkøretøj må kun gennemføres af kvalifi 
ceret personale. 

* De krævede kvalifikationer varierer afhængigt 
af regionen. 

* Læs og overhold de lokale love og de lovmæs-
sige bestemmelser vedr. service af elektriske 
køretøjer. 

* En manglende overholdelse af denne instruk-
tion kan føre til alvorlige kvæstelser, evt. med 
døden til følge. 

 
 

* La instalación en un vehículo híbrido o en un 
vehículo eléctrico de alto voltaje solo puede 
ser realizada por personal cualificado. 

* Las calificaciones varían según la región. 
* Tenga en cuenta las leyes locales y las pautas 

legales con respecto al servicio del vehículo 
eléctrico. 

* Si no se siguen estas instrucciones, se pueden 
producir lesiones graves o la muerte. 

NL

GB

D

F

S

DK

E



© 606570/19-01-2024/3

 

* L’installazione in un’automobile ibrida oppure 

in un’automobile elettrica ad alta tensione 

(HV) può essere eseguita esclusivamente da 

parte di personale qualificato. 

* Le qualificazioni necessarie variano da regione 

a regione. 

* Tenere conto delle leggi e delle direttive valide 

a livello locale in relazione all’assistenza per le 

auto elettriche. 

* La mancata osservanza di queste istruzioni può 

causare lesioni gravi oppure la morte. 

 

 

* Montaż w pojeździe z napędem elektrycznym 

HV lub z napędem hybrydowym może zostać 

wykonany wyłącznie przez wykwalifikowany 

personel. 

* Wymagane kwalifikacje mogą różnić się 

zależnie od regionu, w którym dokonywany 

jest montaż. 

* Wymagane jest przestrzeganie lokalnych prze-

pisów prawnych i dyrektyw dotyczących serwi-

su pojazdów z napędem elektrycznym. 

Nieprzestrzeganie powyższych wskazówek grozi 

ciężkimi urazami ciała lub utratą życia. 

 

 

* Asennuksen korkeajännitesähköajoneuvoon 

(HV) tai hybridiajoneuvoon saa suorittaa vain 

pätevä henkilöstö. 

* Vaadittava pätevyys vaihtelee maakohtaisesti. 

* Noudata sähköajoneuvon huoltoa koskevia pai-

kallisia lakeja ja lain määräyksiä. 

* Tämän ohjeen laiminlyönti voi aiheuttaa vaka-

van loukkaantumisen tai kuoleman. 

 

 

* Vestavbu do elektrovozidla na vysoké napětí 

nebo do hybridního vozidla může provádět 

pouze kvalifikovaný personál. 

* Dle daného státu se nezbytná požadovaná 

kvalifikace liší. 

* Při servisních činnostech na elektrovozidlech 

postupujte dle místních zákonů a zákonných 

směrnic. 

* Nedodržování těchto pokynů může mít za nás-

ledek vážné úrazy a smrt. 

 

 

* A beépítést egy nagyfeszültségű villamos 

gépjárműbe vagy egy hibrid gépjárműbe csak 

megfelelő képesítésű személyzet hajthatja 

végre. 

* A szükséges képesítés régióról régióra változó. 

Kérjük, vegye tekintetbe a villamos gépjárművek 

szerivzelésével kapcsolatos helyi törvényeket 

és törvényes irányelveket. 

* Ezen Utasítás figyelmen kívül hagyása súlyos 

vagy halálos sérülésekhez vezethet. 

 

 

* Монтаж в электромобиль HV или в гибрид-

ный автомобиль может производить только 

квалифицированный персонал. 

* Уровень необходимой квалификации зави-

сит от региональных требований. 

* Обратите Ваше внимание на региональные 

законы и директивы согласно законода-

тельству относительно сервиса для электро-

мобилей. 

* Несоблюдение данной инструкции может 

обусловить тяжелые травмы или привести к 

смертельному случаю.

I

PL

SF

CZ

H

RUS



© 606570/19-01-2024/4

S S = 75 k g=S = 75 k g S = 75 k g7S = 75 k g5S = 75 k g S = 75 k gkS = 75 k ggS = 75 k g

191944 k g41944 k g41944 k g 1944 k gk1944 k gg1944 k g212145 k g42145 k g52145 k g 2145 k gk2145 k gg2145 k g

D = 10,00 kN

D= X 0,0098 1
MAX K G    X    MAX K G

MAX K G    +    MAX K G

10,00 kN<

1

2

S-Load
D-Value

<
d-Value

S-Load



606580

6065/2

9520092

9520079
****806

6065/3

9550017

9550017

B

C

B

CDE

F

G

H

A

H

M10x35 (10.9)
45Nm

M10x35 (10.9)
45Nm

M12x22 (100)
150Nm

M12x22 (100)
150Nm

M6x20 (100)
20Nm

© 606570/19-01-2024/5

B Audi A3 Limouine S-line 
Audi A3 Sportback 
Audi A3 Cabrio S-line 
Škoda Octavia 
Škoda Octavia RS 
Škoda Octavia Combi 
Škoda Octavia Combi RS 
 

C Audi A3 
Audi A3 Limousine 
Audi A3 Cabrio 
Seat Leon 
Seat Leon SC 
Seat Leon SC FR 
Seat Leon SC FR Edition 
Seat Leon ST 

Seat Leon ST FR 
VW Golf 
VW Golf GTI 
VW Golf Sportsvan



G

F

 Audi A3 Sportback
 Audi A3 Cabrio S-line
 Audi A3
 Audi A3 Limousine
 Audi A3 Cabrio

 Škoda Octavia
 Škoda Octavia RS
 Škoda Octavia Combi
 Škoda Octavia Combi RS
 

 Seat Leon
 Seat Leon FR
 Seat Leon SC
 Seat Leon ST FR
 Seat Leon SC FR Edition
 
 Seat Leon ST

 VW Golf
 VW Golf GTI
 VW Golf Sportsvan

G

G

F

G

G

Foldway
socketplate

Socketplate

E

© 606570/19-01-2024/6



6065
(4x) M10x35 (10.9) 

(2x) M6x20 (10.9) 

(2x) M6  

(4x) M10

(4x) M10

(1x) M12

(4x) M12x25 (100) 

© 606570/19-01-2024/7

BMU
Usermanual
Light Weight

EC9420
approved

CARLOS
tested

Montage an lei ing
Fitting instructions
Montageanleitung
Instructions de montage
Monteringsanvisningar
Montagevejledning
Instrucciones de montaje
Istruzioni per il montaggio
Instr ukcja montażu
Asennusohjeet
Pokyny k montáž i
Sz erelési útmutató

оводстводлямонтажа

NL

GB

D

F

S

DK

E

I

PL

SF

CZ

H

RU S

Fitting instructions

Make:

Type:

508 Saloon; 2011->

Peugeot

5414



© 606570/19-01-2024/8

tested
euro

Approved

Approved

ApprovedE11 55R 0110810

10

1710 13

kg

kg ?

 

85 kg

8.8

D-Value :        kN

ECE R55

Couplingsclass: A50-X

10,3

MODIFICATION?
10.9



0km

+

1000km

Copy of manufacturers plate

Copy of manufacturers plate

1 2
Copy of manufacturersplate

!
NISSAN GENUINE ACCESSORIES

GB QUALITY CERTIFICATE
I hereby guarantee our customer that the part below has been installed
correctly according to the installation manual.

FR Certificat de qualité
Par la présente, je garantis à notre client que la pièce ci-dessous a été
correctement installée conformément au manuel d'installation.

DE Qualitätsbescheinigung
Ich garantiere hiermit unserem Kunden, dass das nachstehende Teil
korrekt gemäß dem Installationshandbuch installiert wurde.

NL Kwaliteitscertificaat
Ik garandeer onze klant hierbij dat het onderstaande onderdeel correct
is gemonteerd conform de montagehandleiding.

ES Certificado de calidad
Por la presente garantizo a nuestro cliente que la pieza abajo mencio-
nada ha sido instalada correctamente de conformidad con el manual
de instalación.

IT Certificato di qualità
Con il presente si garantisce al cliente che il componente qui indicato
è stato installato correttamente secondo il manuale di installazione.

RU Свидетельство о качестве
Настоящим подтверждается, что установка нижеприведенной
детали была произведена корректно и соответствует инструк-
ции по установке.

Dealer Stamp

1. INSTALLATION DATE

------- / ------- / -----------

2. NISSAN DEALER NAME
RAYMOND

NISSAN ???

?
-----------------------------------------

3. ADDRESS ?
-----------------------------------------

4. VIN
VIN ?

-----------------------------------------

5. PART NUMBER

6. UNDERBODY WAX REMOVED 

7. FIXING TORQUE CHECK
after 1000 km

1000Km Date:----

Km/mls:

8. NISSAN TECHNICIAN NAME ?
-----------------------------------------

9. NISSAN TECHNICIAN SIGNATURE

-----------------------------------------

10. STORE THIS ORIGINAL DOCU-
MENT IN THE CARS GLOVES BOX

KE500-4E520 KE500-4E530

Yes No

GB Information
- Keep copy of this document at the dealer until 3 years from accessory
installation date.
- This document could be requested by Nissan Europe if necessary.

FR Informations
- Conservez le document  original chez le revendeur pendant 3 ans à
partir de la date d'installation de l'accessoire.
- Ce document pourrait être demandé par Nissan Europe si nécessaire.

DE Hinweis
- Bewahren Sie einer kopie dieses exemplar beim Händler nach der In-
stallation drei Jahre lang auf.
- Dieses Dokument kann, falls erforderlich, bei Nissan Europe angefor-
dert werden.

NL Informatie
- Bewaar een kopie van dit document bij de dealer tot drie jaar na de
accessoiremontagedatum.
- Nissan Europe kan eventueel om dit document verzoeken.

ES Información
- Conserve este documento original en el establecimiento hasta pasa-
dos 3 años de la fecha de instalación del accesorio.
- Nissan Europa podría solicitar este document si fuera necesario.

IT Informazioni
- Conservare il documento originale presso il rivenditore per 3 anni dalla
data di installazione dell'accessorio.
- In caso di necessità, Nissan Europe potrebbe richiedere il presente
documento.

RU Информация
- Хранить оригинал настоящего документа  у поставщика в течение 3

лет с момента установки комплектующей.
- При необходимости, настоящий документ может быть затребован ком-

панией Nissan Europe.

© 606570/19-01-2024/9



© 606570/19-01-2024/10

 

* Brink Towing Systems B.V. is niet aansprakelijk voor de schade die het 

direct of indirect gevolg is van onjuiste montage, daaronder begrepen 

gebruik van niet-geschikte gereedschappen en het gebruik van andere 

dan de voorgeschreven montagewijze en middelen, dan wel onjuiste 

interpretatie van dit onderhavig montagevoorschrift. 

 

 

NOTE: 

* Should this installation process entail the cutting of the bumper – 

conformation MUST be obtained by the installation engineer of the 

customer’s acceptance prior to completion. Brink Towing Systems 

B.V. do not accept responsibility for any matters arising as a result of 

this miscommunication. 

All measurements are in mm! 
* Brink Towing Systems B.V. is not liable for damage caused directly or 

indirectly by incorrect assembly, including the use of unsuitable tools, 

the use of other assembly methods and means than the ones outlined, 

and the incorrect interpretation of these assembly instructions.  

 

 

HINWEISE: 

* Die für das Fahrzeug zugelassene Anhängelast ist den Fahrzeug Unterlagen zu 

entnehmen. Bei Änderungen des Fahrzeuggewichtes muβ die höchstzulässi-

ge Anhängelast gegebenenfalls aus dem D-Wert nachgerechnet werden. 

Auskunft hierüber kann Ihr Fachhändler oder der TÜV geben. 

* Elektrische Anlage gemäβ StVZO anbringen. 

* Brink Towing Systems B.V. haftet nicht für Schäden, die als direkte oder 

indirekte Folge einer nicht ordnungsgemäßen Montage auftreten, 

darunter fallen auch die Benutzung von ungeeigneten Werkzeugen, 

andere als die vorgeschriebenen Montage verfahren und Montagemittel 

sowie eine fehlerhafte Interpretation der betreffenden Montage -

anweisung. 

 

 

* Brink Towing Systems B.V. décline toute responsabilité pour les domma-

ges qui pourraient directement ou indirectement résulter d’un montage 

incorrect, y compris l’utilisation d’outils inappropriés et l’utilisation d’un 

mode d’emploi et de moyens autres que ceux prescrits, ou bien résulter 

d’une interprétation inexacte des présentes instructions de montage. 

 

 

* Brink Towing Systems B.V. är inte ansvariga för skada som orsakats 

direkt eller indirekt av felaktig montering, inklusive användning av 

olämpliga verktyg, andra monteringsmetoder och processer än de som 

beskrivs, samt felaktig tolkning av dessa monteringsinstruktioner.  

 

 

* Brink Towing Systems B.V. er ikke ansvarlig for skade der direkte eller 

indirekte er forårsaget af forkert montage, herunder også iberegnet 

brug af forkert værktøj og anvendelse af anden montagemetode og 

andre montagemidler end de foreskrevne samt fejltolkning af den 

medfølgende montagevejledning. 

 

 

* Brink Towing Systems B.V. no se responsabiliza por daños causados, 

directa o indirectamente, por un montaje incorrecto, incluyendo el uso 

de herramientas inadecuadas, por el uso de métodos de montaje y 

medios distintos a los indicados y por la interpretación incorrecta de 

estas instrucciones de montaje.  

 

 

NL

E

DK

S

F

D

GB



 

* Brink Towing Systems B.V. non può essere ritenuta responsabile per 

eventuali danni direttamente o indirettamente dovuti ad un errato mon-

taggio, intendendo con ciò anche l'uso di attrezzi non idonei e l'uso di 

metodi e mezzi di montaggio diversi da quelli prescritti, nonché all'errata 

interpretazione delle seguenti istruzioni di montaggio. 

 

 

* Brink Towing Systems B.V. nie ponosi odpowiedzialności za straty 

poniesione pośrednio lub bezpośrednio na skutek niewłaściwego 

montażu, w tym użycia niewłaściwych narzędzi i sposobów montażu 

niezgodnych z instrukcją, oraz niezastosowanie się do treści instrukcji. 

 

 

* Brink Towing Systems B.V. ei ole vastuussa vioittumisesta, joka on suor-

aan tai epäsuoraan aiheutunut väärästä asennuksesta samoin kuin sopi-

mattomien työkalujen käytöstä, muiden kuin ohjeissa mainittujen asen-

nusmenetelmien tai välineiden käytöstä sekä kyseisten asennusohjeiden 

väärintulkinnasta. 

 

 

* Společnost Brink Towing Systems B.V. neodpovídá za přímé ani nepřímé 

škody způsobené nesprávnou montáží, včetně použití nevhodných 

nástrojů, použití jiných metod montáže a prostředků než uvedených a 

nesprávným pochopením těchto pokynů k montáži. 

 

 

* A Brink Towing Systems B.V. nem vállal felelősséget a nem megfelelő 

szerelésből közvetlen vagy közvetett módon következő károkért. Ez 

vonatkozik a nem megfelelő szerszámok használatára, a leírtaktól eltérő 

módszerek és eszközök alkalmazására, valamint a szerelési útmutató 

téves értelmezésére. 

 

 

* Фирма Brink Towing Systems B.V. не отвечает за ущерб, являющийся 

прямым или косвенным следствием неправильного монтажа, в том 

числе использования неподходящих инструментов и применения 

иного способа монтажа или других средств, чем предписано в 

инструкции, либо неправильного истолкования настоящей инструк-

ции по монтажу.

© 606570/19-01-2024/11

I

H

CZ

SF

PL

RUS



© 606570/19-01-2024/12

Disconnect Disconnect

See Fig. 2

Disconnect

Lokatie/Positie pijl 
Location/Position Arrow 
Positionspfeil 
Flèche de Position 
Positionpil 
Lokaliseringspil 
Flecha de posición 
Freccia di posizione 
Strzałka połoŻenia 
Paikannusnuoli 
Šipka na pozici 
HelyzetjelzŐ nyíl 
Локация / Место 

NL

GB

D

F

S

DK

E

I

PL

SF

CZ

H

RUS

Audi

Richtingspijl 
Movement Arrow 
Bewegungspfeil 
Flèche de mouvement 
Rörelsepil 
Bevægelsespil 
Flecha de moviemiento 
Freccia di movimento 
Strzałka kierunku ruchu 
Liikesuuntanuoli 
Šipka pohybu 
Mozgásirányjelzönyíl 
Стрелка движения

NL

GB

D

F

S

DK

E

I

PL

SF

CZ

H

RUS

1a

1b



© 606570/19-01-2024/13

A
B

Inside trunk / back panel

1 2

3

B

A

1b

Audi



© 606570/19-01-2024/14

DisconnectDisconnect

1
2

1
2

Disconnect

1c

Skoda



© 606570/19-01-2024/15

DisconnectDisconnect

Disconnect

1d

Seat



DisconnectDisconnect

Disconnect

© 606570/19-01-2024/16

1e

Volkswagen



A
© 606570/19-01-2024/17

2 3

13

23Nm



© 606570/19-01-2024/18

 

A

 

G D

E

A

4 5

A

17

17

10

(4x) M10x30 
(10.9) 

(2x) M6x20 (10.9) 

(2x) M6  

(3x) M12x20 (100) 

(1x) M12x25 (100) 

45Nm

15Nm

135Nm
(1x) M12

(4x) M10

(4x) M10

?  B / C 
Page 2



© 606570/19-01-2024/19

 

     Audi A3
     Audi A3 Sportback

8V3.807.521.A

8V3.807.521.C

     Foldway socketplate

Audi

G

Inside bumper

Inside bumper

7

 

6

4x 9550017



© 606570/19-01-2024/20

Audi A3 Limousine

8V3.807.521.A

8V3.807.521.C

     Foldway socketplateG

Audi

Inside bumper

Inside bumper

8a

 Audi A3 Limousine

     Foldway socketplateG

Inside bumper

8



© 606570/19-01-2024/21

Audi A3 Cabrio

140
220

4
0

1
5

5

R7 (4
x)Inside bumper

10

Audi A3 Cabrio S-line

8V5.807.521.E 1RR

8V5.807.521.G 1RR

     Foldway socketplateG

Audi

Inside bumper

Inside bumper

9



© 606570/19-01-2024/22

95
130 2

0

1
2

2

R7 (4
x)

5F0 803 595

Seat Leon
Seat Leon SC

 

20

400 4000

     SocketplateF

Inside bumper

Inside bumper

11

Template

5F0 803 595

Audi A3 Cabrio

8V5.807.521.A

8V5.807.521.C

     Foldway socketplateG

Audi

Inside bumper

Inside bumper

10a



     Foldway socketplateF

 

130

4
0

1
1

0

Seat Leon SC FR Edition

Y0

R
1
0 (4x)

Y0

 

Inside bumper

Inside bumper

13

© 606570/19-01-2024/23

Seat Leon FR
Seat Leon SC FR

95
130

1
8

,5

1
3

2
,5

R7 (4x)

5F0 803 595 A

18,5

 

     SocketplateF

Outside bumper

Outside bumper

12

Template

5F0 803 595 A



© 606570/19-01-2024/24

 

Seat Leon ST FR

110

150

6
0

5
5

1
5

 

     SocketplateF

Inside bumper

Inside bumper

Inside bumper

15

Template

+

+

15a

Seat Leon ST

5050

5
0

     Foldway socketplateG

Inside bumper

Inside bumper

14



© 606570/19-01-2024/25

 

Škoda Octavia
Škoda Octavia Combi
Škoda Octavia RS
Škoda Octavia Combi RS

     Foldway socketplateG

Inside bumper

Inside bumper

16

320

VW Golf

R7 (2x)

     Foldway socketplateG

Outside bumper

Outside bumper

Outside bumper

17



© 606570/19-01-2024/26

2
5

1
2

0

VW Golf Sportsvan

140
130

R7 (4
x)

     Foldway socketplateG

Inside bumper

Inside bumper

18

Connect Connect

Connect19

20



© 606570/19-01-2024/27

 
Dispositivo di traino tipo: 6065 
Per autoveicoli:                 Audi A3 2012->; A3 Limousine 2014->; A3 Sportback 2012->; A3 Cabrio 2014->; A3 Cabrio S-line 2014-> 
                                              Skoda Octavia 2013->; Octavia Combi 2013->; Octavia RS 2013->; Octavia RS Combi 2013-> 
                                              Seat Leon 2013->; Leon SC 2013->; Leon FR 2013->; Leon SC FR 2013->; Leon SC FR Edition 2013->; Leon ST 2013->; 
                                              Leon ST FR 2013-> 
                                              Volkswagen Golf 2012->; Golf GTI 2013->; Golf Sportsvan 2014-> 
Tipo funzionale:                5G, 8V, 5E, AU, 5F, NX5  
Classe e tipo di attacco: A50-X 
Omologazione:                 E11 55R 0110810 
Valore D:                             10,3 kN 
Carico Verticale max. S: 85 kg 
Larghezza rimorchiabile per Caravan e T.A.T.S.: 2,45m vedere CARTA di CIRCOLAZIONE VEICOLO (motrice) + 70 cm = ..arrotondare ai 5 cm  

superiore (vedi D.M.28/05/85) 
Massa rimorchiabile: vedi carta di circolazione dell’ autoveicolo

Per verificare l’idoneità del dispositivo di traino omologato a norma  
UN ECE R55, all’installazione sulla vettura su cui si intende procedere 
al montaggio, compilare la seguente formula (se necessario declassa-
re la massa rimorchiabile):  dove: T= Massa Complessiva Max. della motrice (in kg) 

         C= Massa Rimorchiabile Max. della motrice (in kg)

D =  x 0,00981  ≤  kNT x C
T + C

DA COMPILARE PER IL COLLAUDO

DICHIARAZIONE DI CORRETTO MONTAGGIO: la sottoscritta Ditta dichiara di aver montato in maniera corretta ed in conformit⁄ alle prescrizioni 
sia del costruttore del veicolo che del costruttore del dispositivo stesso il seguente dispositivo di  attacco meccanico: 
 

tipo:.......................................................................................... 

Il dispositivo di attacco sopra indicato è stato installato su autoveicolo 

modello:................................................................................... 

targa:........................................................................................ 

Data:......................................................................................... 

 
Si dichiara inoltre di aver informato l’utente del veicolo sull’USO e MANUTENZIONE del dispositivo stesso.

TIMBRO e FIRMA

≤ 10,3 kN



6
0

6
5

A
u

d
i; 

Sk
o

d
a;

 S
ea

t;
 V

W
• 

 A
3

2
0

1
2

->
 

• 
 A

3
 L

im
o

u
si

n
e

2
0

1
4

->
 

• 
 A

3
 S

p
o

rt
b

a
ck

2
0

1
2

->
 

• 
 A

3
 C

a
b

ri
o

2
0

1
4

->
 

• 
 A

3
 C

a
b

ri
o

 S
-l

in
e

2
0

1
4

->
 

• 
 O

ct
a

v
ia

 
2

0
1

3
->

 
• 

 O
ct

a
v

ia
 C

o
m

b
i

2
0

1
3

->
 

• 
 O

ct
a

v
ia

 R
S

2
0

1
3

->
 

• 
 O

ct
a

v
ia

 R
S

 C
o

m
b

i
2

0
1

3
->

 
• 

 L
e

o
n

2
0

1
3

->
 

• 
 L

e
o

n
 S

C
2

0
1

3
->

 
• 

 L
e

o
n

 F
R

2
0

1
3

->
 

T
o

w
b

a
r • 

 L
e

o
n

 S
C

 F
R

2
0

1
3

->
 

• 
 L

e
o

n
 S

C
 F

R
 E

d
it

io
n

2
0

1
3

->
 

• 
 L

e
o

n
 S

T
2

0
1

3
->

 
• 

 L
e

o
n

 S
T

 F
R

2
0

1
3

->
 

• 
 G

o
lf

2
0

1
2

->
 

• 
 G

o
lf

 G
T

I
2

0
1

3
->

 
• 

 G
o

lf
 S

p
o

rt
sv

a
n

2
0

1
4

->

Th
is

 F
it

ti
n

g
 In

st
ru

ct
io

n
 is

 
d

at
ed

 1
9
-0
1
2
0
2
4

. 
A

lw
ay

s 
sc

an
 f

o
r 

th
e 

la
te

st
 a

n
d

 
m

o
st

 c
o

m
p

le
te

 f
it

ti
n

g
 in

st
ru

ct
io

n
s.



© 606570/19-01-2024/2

 
* Inbouwen in een high-voltage elektrische auto 

of in een hybride auto mag uitsluitend door 
gekwalificeerd personeel geschieden. 

* De voorgeschreven kwalificaties variëren naar-
gelang het gebied. 

* Neem de plaatselijk geldende wetgeving en de 
wettelijk voorgeschreven richtlijnen met 
betrekking tot service aan elektrische voertui-
gen in acht. 

* Het niet in acht nemen van deze instructie kan 
tot ernstig letsel en dood leiden. 

 

 
* Fitting in a HV electric car or hybrid vehic-le 

must only be done by qualified personnel. 
* The required qualifications may vary depen-

ding on the region. 
* Please observe the local legislation and legal 

directives relating to service to electric vehicles. 

* Disregarding these instructions may lead to 
serious injuries or death. 

 
 

* Der Einbau in ein HV Elektrofahrzeug/ Hybrid 

darf nur von qualifiziertem Personal durch-

geführt werden. 

* Die erforderlichen Qualifi kationen variieren ja 

nach Region. 

* Beachten Sie die örtlichen Gesetze und gesetz-

lichen Richt linien bezüglich Elektrofahrzeug-

Service. 

* Das Missachten dieser Anweisung kann zu sch-

weren Verletzungen oder zum Tod führen. 

 

 
* Le montage dans un véhicule électrique haute 

tension (HV) ou un véhicule hybride ne peut 
être fait que par du personnel qualifié. 

* Les qualifications requises sont varient selon la 
région. 

* Respectez les loies locales et les directives 
légales pour le service aux véhicules électri-
ques. 

* Le non-respect de ces instructions peut provo-
quer des blessures graves ou entraîner la mort. 

 
 

* Monteringen i ett HS-elfordon eller ett hybrid-
fordon få endast genomföras av kvalificerad 
personal. 

* Vilken kvalifikation som krävs kan variera från 
region till region. 

* Beakta alla lagar och bestämmelser som gäller 
i respektive land samt alla lagliga direktiv som 
gäller för servicearbeten på elfordon. 

* Om detta inte beaktas fi nns risk för mycket 
allvarlig kroppsskada eller livsfara. 

 

 
* Indbygningen i et HV elektrisk køretøj eller 

hybridkøretøj må kun gennemføres af kvalifi 
ceret personale. 

* De krævede kvalifikationer varierer afhængigt 
af regionen. 

* Læs og overhold de lokale love og de lovmæs-
sige bestemmelser vedr. service af elektriske 
køretøjer. 

* En manglende overholdelse af denne instruk-
tion kan føre til alvorlige kvæstelser, evt. med 
døden til følge. 

 
 

* La instalación en un vehículo híbrido o en un 
vehículo eléctrico de alto voltaje solo puede 
ser realizada por personal cualificado. 

* Las calificaciones varían según la región. 
* Tenga en cuenta las leyes locales y las pautas 

legales con respecto al servicio del vehículo 
eléctrico. 

* Si no se siguen estas instrucciones, se pueden 
producir lesiones graves o la muerte. 

NL

GB

D

F

S

DK

E

© 606570/19-01-2024/27

 
Dispositivo di traino tipo: 6065 
Per autoveicoli:                 Audi A3 2012->; A3 Limousine 2014->; A3 Sportback 2012->; A3 Cabrio 2014->; A3 Cabrio S-line 2014-> 
                                              Skoda Octavia 2013->; Octavia Combi 2013->; Octavia RS 2013->; Octavia RS Combi 2013-> 
                                              Seat Leon 2013->; Leon SC 2013->; Leon FR 2013->; Leon SC FR 2013->; Leon SC FR Edition 2013->; Leon ST 2013->; 
                                              Leon ST FR 2013-> 
                                              Volkswagen Golf 2012->; Golf GTI 2013->; Golf Sportsvan 2014-> 
Tipo funzionale:                5G, 8V, 5E, AU, 5F, NX5  
Classe e tipo di attacco: A50-X 
Omologazione:                 E11 55R 0110810 
Valore D:                             10,3 kN 
Carico Verticale max. S: 85 kg 
Larghezza rimorchiabile per Caravan e T.A.T.S.: 2,45m vedere CARTA di CIRCOLAZIONE VEICOLO (motrice) + 70 cm = ..arrotondare ai 5 cm  

superiore (vedi D.M.28/05/85) 
Massa rimorchiabile: vedi carta di circolazione dell’ autoveicolo

Per verificare l’idoneità del dispositivo di traino omologato a norma  
UN ECE R55, all’installazione sulla vettura su cui si intende procedere 
al montaggio, compilare la seguente formula (se necessario declassa-
re la massa rimorchiabile):  dove: T= Massa Complessiva Max. della motrice (in kg) 

         C= Massa Rimorchiabile Max. della motrice (in kg)

D =  x 0,00981  ≤  kNT x C
T + C

DA COMPILARE PER IL COLLAUDO

DICHIARAZIONE DI CORRETTO MONTAGGIO: la sottoscritta Ditta dichiara di aver montato in maniera corretta ed in conformit⁄ alle prescrizioni 
sia del costruttore del veicolo che del costruttore del dispositivo stesso il seguente dispositivo di  attacco meccanico: 
 

tipo:.......................................................................................... 

Il dispositivo di attacco sopra indicato è stato installato su autoveicolo 

modello:................................................................................... 

targa:........................................................................................ 

Data:......................................................................................... 

 
Si dichiara inoltre di aver informato l’utente del veicolo sull’USO e MANUTENZIONE del dispositivo stesso.

TIMBRO e FIRMA

≤ 10,3 kN



© 606570/19-01-2024/26

2
5

1
2

0

VW Golf Sportsvan

140
130

R7 (4x)

     Foldway socketplate G

Inside bumper

Inside bumper

18

ConnectConnect

Connect 19

20

© 606570/19-01-2024/3

 

* L’installazione in un’automobile ibrida oppure 

in un’automobile elettrica ad alta tensione 

(HV) può essere eseguita esclusivamente da 

parte di personale qualificato. 

* Le qualificazioni necessarie variano da regione 

a regione. 

* Tenere conto delle leggi e delle direttive valide 

a livello locale in relazione all’assistenza per le 

auto elettriche. 

* La mancata osservanza di queste istruzioni può 

causare lesioni gravi oppure la morte. 

 

 

* Montaż w pojeździe z napędem elektrycznym 

HV lub z napędem hybrydowym może zostać 

wykonany wyłącznie przez wykwalifikowany 

personel. 

* Wymagane kwalifikacje mogą różnić się 

zależnie od regionu, w którym dokonywany 

jest montaż. 

* Wymagane jest przestrzeganie lokalnych prze-

pisów prawnych i dyrektyw dotyczących serwi-

su pojazdów z napędem elektrycznym. 

Nieprzestrzeganie powyższych wskazówek grozi 

ciężkimi urazami ciała lub utratą życia. 

 

 

* Asennuksen korkeajännitesähköajoneuvoon 

(HV) tai hybridiajoneuvoon saa suorittaa vain 

pätevä henkilöstö. 

* Vaadittava pätevyys vaihtelee maakohtaisesti. 

* Noudata sähköajoneuvon huoltoa koskevia pai-

kallisia lakeja ja lain määräyksiä. 

* Tämän ohjeen laiminlyönti voi aiheuttaa vaka-

van loukkaantumisen tai kuoleman. 

 

 

* Vestavbu do elektrovozidla na vysoké napětí 

nebo do hybridního vozidla může provádět 

pouze kvalifikovaný personál. 

* Dle daného státu se nezbytná požadovaná 

kvalifikace liší. 

* Při servisních činnostech na elektrovozidlech 

postupujte dle místních zákonů a zákonných 

směrnic. 

* Nedodržování těchto pokynů může mít za nás-

ledek vážné úrazy a smrt. 

 

 

* A beépítést egy nagyfeszültségű villamos 

gépjárműbe vagy egy hibrid gépjárműbe csak 

megfelelő képesítésű személyzet hajthatja 

végre. 

* A szükséges képesítés régióról régióra változó. 

Kérjük, vegye tekintetbe a villamos gépjárművek 

szerivzelésével kapcsolatos helyi törvényeket 

és törvényes irányelveket. 

* Ezen Utasítás figyelmen kívül hagyása súlyos 

vagy halálos sérülésekhez vezethet. 

 

 

* Монтаж в электромобиль HV или в гибрид-

ный автомобиль может производить только 

квалифицированный персонал. 

* Уровень необходимой квалификации зави-

сит от региональных требований. 

* Обратите Ваше внимание на региональные 

законы и директивы согласно законода-

тельству относительно сервиса для электро-

мобилей. 

* Несоблюдение данной инструкции может 

обусловить тяжелые травмы или привести к 

смертельному случаю.

I

PL

SF

CZ

H

RUS



© 606570/19-01-2024/4

S S = 75 k g=S = 75 k g S = 75 k g7S = 75 k g5S = 75 k g S = 75 k gkS = 75 k ggS = 75 k g

191944 k g41944 k g41944 k g 1944 k gk1944 k gg1944 k g212145 k g42145 k g52145 k g 2145 k gk2145 k gg2145 k g

D = 10,00 kN

D= X 0,0098 1
MAX K G    X    MAX K G

MAX K G    +    MAX K G

10,00 kN<

1

2

S-Load
D-Value

<
d-Value

S-Load

© 606570/19-01-2024/25

 

Škoda Octavia
Škoda Octavia Combi
Škoda Octavia RS
Škoda Octavia Combi RS

     Foldway socketplateG

Inside bumper

Inside bumper

16

320

VW Golf

R7 (2x)

     Foldway socketplateG

Outside bumper

Outside bumper

Outside bumper

17



© 606570/19-01-2024/24

 

Seat Leon ST FR

110

150

6
0

5
5

1
5

 

     Socketplate F

Inside bumper

Inside bumper

Inside bumper

15

Template

+

+

15a

Seat Leon ST

50 50

5
0

     Foldway socketplate G

Inside bumper

Inside bumper

14

606580

6065/2

9520092

9520079
****806

6065/3

9550017

9550017

B

C

B

C D E

F

G

H

A

H

M10x35 (10.9)
45Nm

M10x35 (10.9)
45Nm

M12x22 (100)
150Nm

M12x22(100)
150Nm

M6x20 (100)
20Nm

© 606570/19-01-2024/5

BAudi A3 Limouine S-line 
Audi A3 Sportback 
Audi A3 Cabrio S-line 
Škoda Octavia 
Škoda Octavia RS 
Škoda Octavia Combi 
Škoda Octavia Combi RS 

CAudi A3 
Audi A3 Limousine 
Audi A3 Cabrio 
Seat Leon 
Seat Leon SC 
Seat Leon SC FR 
Seat Leon SC FR Edition 
Seat Leon ST 

Seat Leon ST FR 
VW Golf 
VW Golf GTI 
VW Golf Sportsvan



G

F

 Audi A3 Sportback
 Audi A3 Cabrio S-line
 Audi A3
 Audi A3 Limousine
 Audi A3 Cabrio

 Škoda Octavia
 Škoda Octavia RS
 Škoda Octavia Combi
 Škoda Octavia Combi RS
 

 Seat Leon
 Seat Leon FR
 Seat Leon SC
 Seat Leon ST FR
 Seat Leon SC FR Edition
 
 Seat Leon ST

 VW Golf
 VW Golf GTI
 VW Golf Sportsvan

G

G

F

G

G

Foldway
socketplate

Socketplate

E

© 606570/19-01-2024/6

     Foldway socketplateF

 

130

4
0

1
1

0

Seat Leon SC FR Edition

Y0

R
1
0 (4x)

Y0

 

Inside bumper

Inside bumper

13

© 606570/19-01-2024/23

Seat Leon FR
Seat Leon SC FR

95
130

1
8

,5

1
3

2
,5

R7 (4x)

5F0 803 595 A

18,5

 

     SocketplateF

Outside bumper

Outside bumper

12

Template

5F0 803 595 A



© 606570/19-01-2024/22

95
1302

0

1
2

2

R7 (4x)

5F0 803 595

Seat Leon
Seat Leon SC

 

20

400400 0

     Socketplate F

Inside bumper

Inside bumper

11

Template

5F0 803 595

Audi A3 Cabrio

8V5.807.521.A

8V5.807.521.C

     Foldway socketplate G

Audi

Inside bumper

Inside bumper

10a

6065

(4x) M10x35 (10.9) 

(2x) M6x20 (10.9) 

(2x) M6  

(4x) M10

(4x) M10

(1x) M12

(4x) M12x25 (100) 

© 606570/19-01-2024/7

BMU
Usermanual
Light Weight

EC9420
approved

CARLOS
tested

Montageanleiing
Fittinginstructions
Montageanleitung
Instructionsdemontage
Monteringsanvisningar
Montagevejledning
Instruccionesdemontaje
Istruzioniperilmontaggio
Instrukcjamontażu
Asennusohjeet
Pokynykmontáži
Szerelésiútmutató

оводстводлямонтажа

NL

GB

D

F

S

DK

E

I

PL

SF

CZ

H

RUS

Fitting instructions

Make:

Type:

508 Saloon; 2011->

Peugeot

5414



© 606570/19-01-2024/8

tested
euro

Approved

Approved

ApprovedE11 55R 0110810

10

1710 13

kg

kg ?

 

85 kg

8.8

D-Value :        kN

ECE R55

Couplingsclass: A50-X

10,3

MODIFICATION?
10.9

© 606570/19-01-2024/21

Audi A3 Cabrio

140
220

4
0

1
5

5

R7 (4
x)Inside bumper

10

Audi A3 Cabrio S-line

8V5.807.521.E 1RR

8V5.807.521.G 1RR

     Foldway socketplateG

Audi

Inside bumper

Inside bumper

9



© 606570/19-01-2024/20

Audi A3 Limousine

8V3.807.521.A

8V3.807.521.C

     Foldway socketplate G

Audi

Inside bumper

Inside bumper

8a

 Audi A3 Limousine

     Foldway socketplate G

Inside bumper

8

0km

+

1000km

Copy of manufacturers plate

Copy of manufacturers plate

12
Copy of manufacturersplate

!
NISSAN GENUINE ACCESSORIES

GB QUALITY CERTIFICATE
I hereby guarantee our customer that the part below has been installed
correctly according to the installation manual.

FR Certificat de qualité
Par la présente, je garantis à notre client que la pièce ci-dessous a été
correctement installée conformément au manuel d'installation.

DEQualitätsbescheinigung
Ich garantiere hiermit unserem Kunden, dass das nachstehende Teil
korrekt gemäß dem Installationshandbuch installiert wurde.

NLKwaliteitscertificaat
Ik garandeer onze klant hierbij dat het onderstaande onderdeel correct
is gemonteerd conform de montagehandleiding.

ESCertificado de calidad
Por la presente garantizo a nuestro cliente que la pieza abajo mencio-
nada ha sido instalada correctamente de conformidad con el manual
de instalación.

ITCertificato di qualità
Con il presente si garantisce al cliente che il componente qui indicato
è stato installato correttamente secondo il manuale di installazione.

RUСвидетельствоокачестве
Настоящимподтверждается, чтоустановканижеприведенной
деталибылапроизведенакорректноисоответствуетинструк-
циипоустановке.

Dealer Stamp

1. INSTALLATION DATE

------- / ------- / -----------

2. NISSAN DEALER NAMERAYMON D

NISSAN???

?-----------------------------------------

3. ADDRESS
?-----------------------------------------

4. VIN
VIN?

-----------------------------------------

5. PART NUMBER

6. UNDERBODY WAX REMOVED 

7. FIXING TORQUE CHECK
after 1000 km

1000KmDate:----

Km/mls:

8. NISSAN TECHNICIAN NAME 
?-----------------------------------------

9. NISSAN TECHNICIAN SIGNATURE

-----------------------------------------

10. STORE THIS ORIGINAL DOCU-
MENT IN THE CARS GLOVES BOX

KE500-4E520KE500-4E530

YesNo

GB Information
- Keep copy of this document at the dealer until 3 years from accessory
installation date.
- This document could be requested by Nissan Europe if necessary.

FRInformations
- Conservez le document  original chez le revendeur pendant 3 ans à
partir de la date d'installation de l'accessoire.
- Ce document pourrait être demandé par Nissan Europe si nécessaire.

DEHinweis
- Bewahren Sie einer kopie dieses exemplar beim Händler nach der In-
stallation drei Jahre lang auf.
- Dieses Dokument kann, falls erforderlich, bei Nissan Europe angefor-
dert werden.

NLInformatie
- Bewaar een kopie van dit document bij de dealer tot drie jaar na de
accessoiremontagedatum.
- Nissan Europe kan eventueel om dit document verzoeken.

ES Información
- Conserve este documento original en el establecimiento hasta pasa-
dos 3 años de la fecha de instalación del accesorio.
- Nissan Europa podría solicitar este document si fuera necesario.

ITInformazioni
- Conservare il documento originale presso il rivenditore per 3 anni dalla
data di installazione dell'accessorio.
- In caso di necessità, Nissan Europe potrebbe richiedere il presente
documento.

RUИнформация
- Хранить оригинал настоящего документа  у поставщика в течение 3

лет с момента установки комплектующей.
- При необходимости, настоящий документ может быть затребован ком-

панией Nissan Europe.

© 606570/19-01-2024/9



© 606570/19-01-2024/10

 

* Brink Towing Systems B.V. is niet aansprakelijk voor de schade die het 

direct of indirect gevolg is van onjuiste montage, daaronder begrepen 

gebruik van niet-geschikte gereedschappen en het gebruik van andere 

dan de voorgeschreven montagewijze en middelen, dan wel onjuiste 

interpretatie van dit onderhavig montagevoorschrift. 

 

 

NOTE: 

* Should this installation process entail the cutting of the bumper – 

conformation MUST be obtained by the installation engineer of the 

customer’s acceptance prior to completion. Brink Towing Systems 

B.V. do not accept responsibility for any matters arising as a result of 

this miscommunication. 

All measurements are in mm! 
* Brink Towing Systems B.V. is not liable for damage caused directly or 

indirectly by incorrect assembly, including the use of unsuitable tools, 

the use of other assembly methods and means than the ones outlined, 

and the incorrect interpretation of these assembly instructions.  

 

 

HINWEISE: 

* Die für das Fahrzeug zugelassene Anhängelast ist den Fahrzeug Unterlagen zu 

entnehmen. Bei Änderungen des Fahrzeuggewichtes muβ die höchstzulässi-

ge Anhängelast gegebenenfalls aus dem D-Wert nachgerechnet werden. 

Auskunft hierüber kann Ihr Fachhändler oder der TÜV geben. 

* Elektrische Anlage gemäβ StVZO anbringen. 

* Brink Towing Systems B.V. haftet nicht für Schäden, die als direkte oder 

indirekte Folge einer nicht ordnungsgemäßen Montage auftreten, 

darunter fallen auch die Benutzung von ungeeigneten Werkzeugen, 

andere als die vorgeschriebenen Montage verfahren und Montagemittel 

sowie eine fehlerhafte Interpretation der betreffenden Montage -

anweisung. 

 

 

* Brink Towing Systems B.V. décline toute responsabilité pour les domma-

ges qui pourraient directement ou indirectement résulter d’un montage 

incorrect, y compris l’utilisation d’outils inappropriés et l’utilisation d’un 

mode d’emploi et de moyens autres que ceux prescrits, ou bien résulter 

d’une interprétation inexacte des présentes instructions de montage. 

 

 

* Brink Towing Systems B.V. är inte ansvariga för skada som orsakats 

direkt eller indirekt av felaktig montering, inklusive användning av 

olämpliga verktyg, andra monteringsmetoder och processer än de som 

beskrivs, samt felaktig tolkning av dessa monteringsinstruktioner.  

 

 

* Brink Towing Systems B.V. er ikke ansvarlig for skade der direkte eller 

indirekte er forårsaget af forkert montage, herunder også iberegnet 

brug af forkert værktøj og anvendelse af anden montagemetode og 

andre montagemidler end de foreskrevne samt fejltolkning af den 

medfølgende montagevejledning. 

 

 

* Brink Towing Systems B.V. no se responsabiliza por daños causados, 

directa o indirectamente, por un montaje incorrecto, incluyendo el uso 

de herramientas inadecuadas, por el uso de métodos de montaje y 

medios distintos a los indicados y por la interpretación incorrecta de 

estas instrucciones de montaje.  

 

 

NL

E

DK

S

F

D

GB

© 606570/19-01-2024/19

 

     Audi A3
     Audi A3 Sportback

8V3.807.521.A

8V3.807.521.C

     Foldway socketplate

Audi

G

Inside bumper

Inside bumper

7

 

6

4x 9550017



© 606570/19-01-2024/18

 

A

 

GD

E

A

45

A

17

17

10

(4x) M10x30 
(10.9) 

(2x) M6x20 (10.9) 

(2x) M6  

(3x) M12x20 (100) 

(1x) M12x25 (100) 

45Nm

15Nm

135Nm
(1x) M12

(4x) M10

(4x) M10

?  B / C 
Page 2

 

*Brink Towing Systems B.V. non può essere ritenuta responsabile per 

eventuali danni direttamente o indirettamente dovuti ad un errato mon-

taggio, intendendo con ciò anche l'uso di attrezzi non idonei e l'uso di 

metodi e mezzi di montaggio diversi da quelli prescritti, nonché all'errata 

interpretazione delle seguenti istruzioni di montaggio. 

 

 

*Brink Towing Systems B.V. nie ponosi odpowiedzialności za straty 

poniesione pośrednio lub bezpośrednio na skutek niewłaściwego 

montażu, w tym użycia niewłaściwych narzędzi i sposobów montażu 

niezgodnych z instrukcją, oraz niezastosowanie się do treści instrukcji. 

 

 

*Brink Towing Systems B.V. ei ole vastuussa vioittumisesta, joka on suor-

aan tai epäsuoraan aiheutunut väärästä asennuksesta samoin kuin sopi-

mattomien työkalujen käytöstä, muiden kuin ohjeissa mainittujen asen-

nusmenetelmien tai välineiden käytöstä sekä kyseisten asennusohjeiden 

väärintulkinnasta. 

 

 

*Společnost Brink Towing Systems B.V. neodpovídá za přímé ani nepřímé 

škody způsobené nesprávnou montáží, včetně použití nevhodných 

nástrojů, použití jiných metod montáže a prostředků než uvedených a 

nesprávným pochopením těchto pokynů k montáži. 

 

 

*A Brink Towing Systems B.V. nem vállal felelősséget a nem megfelelő 

szerelésből közvetlen vagy közvetett módon következő károkért. Ez 

vonatkozik a nem megfelelő szerszámok használatára, a leírtaktól eltérő 

módszerek és eszközök alkalmazására, valamint a szerelési útmutató 

téves értelmezésére. 

 

 

*Фирма Brink Towing Systems B.V. не отвечает за ущерб, являющийся 

прямым или косвенным следствием неправильного монтажа, в том 

числе использования неподходящих инструментов и применения 

иного способа монтажа или других средств, чем предписано в 

инструкции, либо неправильного истолкования настоящей инструк-

ции по монтажу.

© 606570/19-01-2024/11

I

H

CZ

SF

PL

RUS



© 606570/19-01-2024/12

Disconnect Disconnect

See Fig. 2

Disconnect

Lokatie/Positie pijl 
Location/Position Arrow 
Positionspfeil 
Flèche de Position 
Positionpil 
Lokaliseringspil 
Flecha de posición 
Freccia di posizione 
Strzałka połoŻenia 
Paikannusnuoli 
Šipka na pozici 
HelyzetjelzŐ nyíl 
Локация / Место 

NL

GB

D

F

S

DK

E

I

PL

SF

CZ

H

RUS

Audi

Richtingspijl 
Movement Arrow 
Bewegungspfeil 
Flèche de mouvement 
Rörelsepil 
Bevægelsespil 
Flecha de moviemiento 
Freccia di movimento 
Strzałka kierunku ruchu 
Liikesuuntanuoli 
Šipka pohybu 
Mozgásirányjelzönyíl 
Стрелка движения

NL

GB

D

F

S

DK

E

I

PL

SF

CZ

H

RUS

1a

1b

A
© 606570/19-01-2024/17

2 3

13

23Nm



Disconnect Disconnect

Disconnect

© 606570/19-01-2024/16

1e

Volkswagen

© 606570/19-01-2024/13

A
B

Inside trunk / back panel

12

3

B

A

1b

Audi



© 606570/19-01-2024/14

DisconnectDisconnect

1
2

1
2

Disconnect

1c

Skoda

© 606570/19-01-2024/15

DisconnectDisconnect

Disconnect

1d

Seat



1 2 3 4

Smart positioning sticker 6065
Place on outside bumper

Skoda Octavia HB/Combi; 2020-> without existing hole 

22

11
0

55175

Line Y

Line Y
M

id
dl

e 
bu

m
pe

rCut out

Line Y

Line Y

Line Y

18



1 2 3 4

Smart positioning sticker 6065
Place on outside bumper

Skoda Octavia HB/Combi; 2020->   With existing hole 

Cut out
EXISTING HOLE

BEND LINE

22
 




